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Zte sin cos tan

54° 0.8090 0.5878 1,3764
55° 0.8192 0.5736 1.4281
56° 0,8290 0,5592 1,4826

@ 8.192 @5.736 @ 5.878

@ 8.09 ® 8.29

(C=55° 0|BE&2

x = 10X cos55° = 10 x 0.5736 = 5.736
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@ tanl5°m @21tan15°m @ sinl5°m

@ 21sinl5°m ® coslh°m

tan15° = % O|B 2 x =21 tan 15°m ©|T}.




0°<A<45° A, \/(tanA + 1)2+ \/(tan 45° — tan A)? & 73]
stofet.
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0°<A<45°0]|BE2 0 < tanA < 1

\/(tanA +1)° + \/(tan 45° —tan A)® = tan A + 1 + tan 45° —
tanA =1+ tan45° =2




oL AZHH] o] B E 0] 835} sin15° + tan16° — cos 14° 9] Ze
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2Zte Ab@l(sin) TAQl(cos) | EtMIE(tan)
14° 0.2419 | 009703 | 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867

[ 2
[> AE T —0.4248

sin15°—cos14° + tan16°
= 0.2588 — 0.9703 + 0.2867 = —0.4248
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AD = V362 + 242 = V1872 = 12 V13 °|t}.




/ACB = 30° |22 DE = EF xsin30° = V3, DF = EF x
cos30° =3

oBEFC 7} Az o| 2 & CF = 23
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sin(3x - 30°) = \/7_ = 5in 60° = sin 120°

3x —30° = 60°, 3x — 30° = 120°
~x = 30°,50°
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@ Vilkm @ 2+v13km ® 3vV15km
@ 5+21km (@)GMkm

AH = 6cos60° =3 (km)
o HB =30-3=27 (km)
CH = 6sin60° = 33 (km)

.. BC = VHB? + CH?
= /272 + (3V3)2

= 621 (km)




